
1Ê3�I�Æ)êÆ¿mÁò£êÆa§2013¤

�ö� ?6

2013c 10� 31F

�!£�K15©¤²¡R2þü��»�r��C1ÚC2	�uP:"ò�C2÷C1

��±£ÃwÄ¤EÄ�±§ù�§C2þ�P:��C2�$Ä
$Ä"PΓ�P:

�$Ä;,­�§¡�%9�"y�C�±P�Ð© �£�:¤��%��§Ù

�»�R"Pγ : R2 ∪ {∞} → R2 ∪ {∞}��C��üC�§§òQ ∈ R2 \ {P}N¤
��PQþ�:Q′,÷v

−→
PQ ·

−−→
PQ′ = R2"¦yµγ(Γ)��Ô�"

�!£�K10©¤�n��
B(t)Ún × 1Ý
b(t)©O�B(t) = (bij(t))Úb(t) =
b1 (t)

...

bn (t)

,Ù¥bij(t), bi(t)þ�'ut�¢Xêõ�ª§i, j = 1, 2, · · · , n"Pd(t)�B(t)�

1�ª§di(t)�^b(t)O�B(t)�1i��¤��n�Ý
�1�ª"ed(t)k¢

�t0¦�B(t0)X = b(t0)¤�'uX��N�5�§|§Áy²µd(t), d1(t), · · · , dn(t)7

kgê≥ 1�úÏª"

n!£�K15©¤�f(x)3«m[0, a]þk��ëY�ê§f ′(0) = 1, f ′′(0) 6=
0,�0 < f(x) < x, x ∈ (0, a)"-

xn+1 = f(xn), x1 ∈ (0, a)

1. ¦y{xn}Âñ¿¦4�¶

2. Á¯{nxn}´ÄÂñ?eØÂñ§K`²nd"eÂñ§K¦Ù4�"

o!£�K15©¤�a > 1,¼êf : (0,+∞)→ (0,+∞)��"¦y�3ªuÃ¡

��ê�{xn}¦�
f ′(xn) < f(axn), n = 1, 2, · · · .
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Ê!£�K20©¤�f : [−1, 1]→ R�ó¼ê§f3[0, 1]þüN4O§q�g´[−1, 1]þ

�à¼ê§=é?¿x, y ∈ [−1, 1]9t ∈ (0, 1)k

g(tx+ (1− t)y) ≤ tg(x) + (1− t)g(y).

¦yµ
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∫ 1

−1
f(x)g(x)dx ≥

∫ 1

−1
f(x)dx

∫ 1

−1
g(x)dx.

8!£�K25©¤�Rn×n�n�¢�
�N§Eij�(i, j) ����1Ù{ �

���0�n��
§ i, j = 1, 2, · · · , n"4Γr���ur�¢n��
�N§r =

0, 1, 2, · · · , n§¿4φ : Rn×n → Rn×n��¦Nì§=÷vµ

φ(AB) = φ(A)φ(B), ∀A,B ∈ Rn×n.

Áy²:

1. ∀A,B ∈ Γr§�φ(A) = φ(B)"

2. eφ(0) = 0§��3,���1�Ý
W¦�φ(W ) 6= 0,K7�3�_�
R¦

�φ(Eij) = REijR
−1é��Eij�¤á§i, j = 1, 2, · · · , n"
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